Algebra 3 Assignment # 10 — Review Worksheet

(1) Solve for x please.

(a) 92X =72+ @ 9P _

(b) g2X—5 _ 1xtl () 310g9(4) B 910g3(4) -

(© 4.8 =( L )l_x () 3 (logg(x))* —2 logg(x) —1=0

() 1og8(%/1) = x (M) logs(2x+3) = logs(1-x)

(©) logi (x) = _% (m) logy(x+1) + logy(3x-1) = 5

(® logy(16) = —g (n) logy(x—3) — logy(x+1) = log,(8)

(® logy (.125) = 3 (0) logy (x+1) + logy (x) + log7 (2x +1) = logy (30)
(h) logs(logg(x)) =1 @ 408:2) 4 gonl¥o) _ gos(y

(2) Use a calculator to solve for x. Express answers correct to 3 decimal places.

(a) 3* =8 (b) 2°%72 =51=%

(©) logs(2) =x @ (In(x))’ - 4In(x) =0
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@) (a) 1.893 (b) 0.812

(c) 0.631 (d) 1,7.389 , 0.135



